CEERY  ARMEABFBARAT

BEIJING DEEPCOOL INDUSTRIES CO.,LTD

APPROVAL SHEET
AN P

NS P/N . EP- CHUPSMTVBPLX
MODEL NO. :  UP2 CASE-2 (fif== AN)
VERSION 01
DATE . AUG. 27, 2018
PREPAREDBY : LIXIN
CHECKEDBY  : SHEN LIHE
APPROVAL . YAO JIARUI

BEIJING DEEPCOOL INDUSTRIES CO. LTD
Building 10,N0.9 Dijin Road, Zhongguancun Environmental Protection Park, Haidian Dist.
Beijing 100095, China

TEL: +86-10-5640 1752
FAX: +86-10-5640 1925
http://www.deepcool.com



http://www.deepcooltech.com/

Deep N

\ COOL

AE5TH 28 = B AHECA IR A F]

BEIJING DEEPCOOL INDUSTRIES CO., LTD

MODIFICATION

VER

DATE




CEERY AR S A AT IR A

BEIJING DEEPCOOL INDUSTRIES CO., LTD

CONTENTS
1. COMPONENTS LIST , DESCRIPTION & PHOTO OF PRODUCT ......ccccooiiiiiieiiiicnieie 3
1.1 COMPONENTS LIST ..ot 3
1.2 DESCRIPTION & PHOTO OF PRODUCT ....cciiiiiiiiiiiiieeee e 4
2. CHARACTERISTICS ..o 4
2.1 MECHANICAL CHARACTERISTICS.......ooiiiiieee e 4
3. DRAWINGS: UP2 CASE-2 ASSEMBLY .....ooiiiiiiiiiiii s )
L LOGO PLATE ..ottt b et b e n e b 6
B2 TOP COVER ...ttt b e n e ne s 7
LB IMID-CASE ... 8
A BASE PLATE ...ttt 9
B HOLDER ... 10
3.0 SCREW ... 11
BT NU T bbb s 12



1. COMPONENTS LIST, DESCRIPTION & PHOTO OF PRODUCT

BEIJING DEEPCOOL

1.1 COMPONENTS LIST

CEERY AR S A AT IR A

INDUSTRIES CO., LTD

NO. PART SPEC/mm QTY. | PAGE
1 | LOGOPLATE 93.2X48X20.5 1 6
2 | TOPCOVER 98.5X93.5X23.4 1 7
3 | MID-CASE 105X100X45 1 8
4 | BASE PLATE 104X99X5.4 1 9
5 | HOLDER 120X65X2 1 10
6 | SCREW M2.5X6KM 14 |11
7 | NUT M2.5XH4X33 4 12
8 |GAPPAD 1 33.0X26.0X0.5 1 /
9 | GAPPAD 2 10X10X1.5 2 /
10 |PAD1 20X9X2 1 /
11 |PAD 2 21X14X1 1 /
12 |PAD 3 85X33X1 1 /
13 | PLUG 1 ¢ 5.0X¢ 6.5X9 4 /
14 | PLUG 2 ¢ 9.5X¢ 3.3X5.5 2 /




oeep Yy bR E SR A ECH R A A
@DL BEIJING DEEPCOOL INDUSTRIES CO., LTD
1. DESCRIPTION & PHOTO OF PRODUCT

View

2. CHARACTERISTICS
2.1 MECHANICAL CHARACTERISTICS

Overall Dimension 132.5X120X58.4




LTD

INDUSTRIES CO.

BEIJING DEEPCOOL

3. DRAWINGS: UP2 CASE-2 ASSEMBLY

07 00 STMLSAN 10004330 aNrEg) 20 PN B Nouvotsoon GL-£909W | | 1-Zdn 3SYO-QIN | 0SLF050°10°L £
55 i e T WS | 6XG'9PXG 69 9NTd | 029502050 8
\SSv Z3Svo A W D30 9 WNS| 2 G'GXE'EOX0'GH ONNd | 2065020G0L 6
/1| D 0 WA 78/ 107 NIX 1TV FONOLS | | IXYIXIZ Q¥d | 12201050400 0L
¢ L) IV IVRELYA N9IS30 FPNOLS | | ZX6X0Z Q¥d | 0220080700 1l
MIVINY TIRELYN AL ‘ON Lyvd ON'OMA | N/S JONOdS | | IXSEXG8 QVd 2220050700 Zl
0s0Lv| | |-¢dN 3LY1d 0907 0¥870S0°L0°L| | GL1-£909TV| | zdn 3Lv1d 3Svg | 0l¥0S0'I0L| ¢y
GL-C909W | | ¢—CdN Y3IN0J dOL 008¥0S0T0°L T 05011V | | ¢dN ¥3AT0H | 0Th0'0%010° . 1
R10I3YS | 71 WMOXGZIN MIMDS 0Se7°020Z0°0] € ¢F | TIF| 80F GOF | £OF| C0F |Invanl
0£5000¢| | | SOXO'9ZXOEE 0ESO00F Qvd d¥9 (0L6LOE0'900 4 [0k O e O NoISKInia
0£5000€ | € [SIX0LX0L 0£S000§ QVd dv9 02810£0'900 G —
Ssv¥9| ¥ COXPHXGZN LNN 0S/+°020200 9
Y §G—e 002}
= =)
O IB= =]
L = m —
A —4 mml




»

B 5T 28 = RO IR A

INDUSTRIES CO.,LTD

BEIJING DEEPCOOL

3.1 LOGO PLATE

'sobpe dUDYS puUD SUUNQ WOJ] 3344 \7
X UM DUOW 8JD SUOISUBWIP DI * |

—=i=—001

017 07 SIMISNONI 10004330 ONIPRg =L | NI S NOWvoRGon
@ B [0y 050107 onama T¥AOYddV
—2dn 31¥1d 0901 W4 0I0
L/ Fowa D8 0G0 10T e 77303107 N T]aeviad
izzum 0501y [IVIN3LYN N9IS30
80+ GO0+ C0F ¢0F L'0F 1'0F JONVYTI0L
0001~00¥<|00P~0C I<|0CI~0¢< 0¢~9< 9~ < ~G0 NOISNINIC
paijioads asIMIBLI0 SS3|UN ‘MO|3q SD 30UDJR|0|
0Z'€6

0502

00°€— ﬁl

28.50

48.00

1SD10N

d9




w5
g
e M)
T
siag=
ﬂm
e
48
by
-2
e

3.2 TOP COVER

'sobpa dUDys pup SuINg Wod) 3244 7
X YA DBUOW 8JD SUOISUBWIP DI * |

93.50

U7 °00 SIMISNANI 1000d330 ONIp3g—mrt | ML 85 NOLYOLIGON
@ B [008r05010'] onama WAOYddY
¢—¢dn Y3000 4ol N/d (I3HO
/| Bovd 0087 05010 I Tetin| 72/80/ 8107 NIX 033
701 [mws| REERT NJIS3
g0F SOF | €0F COF | LOF | 10T | 3ONvy3I0L
0001~00%<|00%~02Z I< [0Z I~ 05< 00~9< | 9~0< | 0~Go | NOISNINIO
paljoads 8sIMIayl0 5Sa|UN ‘MOJaq SD 30UDIB|0]
0586
- 058

MIMIMIMIMIMIMIMIMIMIMI M

HIAITHIRIHIAIAIRINIHAHIATLR

91.10

MIMIMIMIMIMIMIMIMIMIM I M

HINTHINIAIAIRIRIATLATA IR

I—1r=1.

07¢€C

1SO10N

dO




»

BT 22 RO IR ]

INDUSTRIES CO.,LTD

BEIJING DEEPCOOL

3.3 MID-CASE

VA | NYN | oA

NOILYOIJI00W

aL1 00 SAMLSNANI 10004330 9NIrI3g

@ B 054 06010°] ovama WAO¥ddY
| —2dN 3SYO-QIN  NVd 03%03H0

/1 Fovd |06y 0600w wetvn| $7/90/8107 NIX Tjo3evd3ud

| “|BaS|  SL-£909TY [IVIH3LY N N9IS3d

80F G0F ¢0F ¢0F |'0F 1'0F JONVYI10L
0001~00¥<|007~0Z1<|0¢ I~ 0¢< 0f~9< O~ < ~G0 NOISN3NId

palyaads asIMIBYI0 SS3|UN ‘MO3q SD 39UDJ3[0|
00004

2000°16

'5obpa dUDys pup SUING WOoJ) 8314 *7
X UYM PBYOL 84D SUOISUSWIP [N * |

0057

[ —.

N

Ja Ny

99.00°%4%

105.00

tS210)

d9




INDUSTRIES CO.,LTD

BEIJING DEEPCOOL

BT 22 RO IR ]

3.4 BASE PLATE

a1 00 SIULSNANI 10094330 ININ3E

V4 3AVN

N

NOLLYOL4I00N

@ £ DIF0S0I0°) oNama AOYdY
¢dn 3LV1d ISvEl  w/d aMIH
1/ 1| 2% 010%70G0"10"1 w0 W] 05,/6/L107 NIX ] @
L op3vos| G1-C909 V) ity N9IS3a
80F S0F | €0F Z0F | VOF | VOF | JONVII0L
0001~00¥</00M~02I<[0ZI~08< | 0g~9< | 9~¢< | e~G70 | NOISNINIO

pay1oads asiMIay}0 SSajUN "MOG SD SIUDIIJ0]

X UM payJow 3o suoisuawp 041
:S3J0N

A

701

99

©©

do




INDUSTRIES CO.,LTD

B 5T 28 = RO IR A F

BEIJING DEEPCOOL

3.5HOLDER

QT 00 SATHISNONT  1000d4Ad  ONTrag | — o AL By LI
@ B[00 oxo VAOHAdY

cdll ddd'IOH N/d (N0

T/T [0%d | 0250 090 10 T4000 WIek | §/8/1107 NIY 7] Gouvdid

T+ BTVS 0G0T'TY| Wruarvn N9ISHT

8°0F 60T £0F 70T 10T | 10F AONVHTT0L

000T~008<| 00P~021< | 051~0€¢ 06~9C | 9~€C | €~G0 NOISNARTA

PATJT90ds 9STAIAYI0 SSATUN ‘MO[AQ SB AOURIATO]

X Yim payiow aip SuoisuawIp Jo3LL) |
:S3Jo)

5

475

55

\\

A
%

@A)
&)

17

(N

5

00/

do

10



»

B 5T 28 RO IR A

INDUSTRIES CO.,LTD

BEIJING DEEPCOOL

3.6 SCREW

AT 700 SAMMISAONT 71000dadq  ONTryag [t | L NOIDHIT
© Do oo VAOSAY
WIOXS TN MANDS| Vi @i
T/T | 30vd |06gF"070 700 o Tetsk | §/8/L107 NIX T1T] agevdaud
ﬁ_mh:«om QT0TY4S | TVINALVI NOTSAa
8°0F ¢0F ¢0F 0¥ 10+ 10F TONVIHT0L
000T~007<| 007~081< | 021~06< 06~9¢ 9~6¢ £~G°0 NOISNEHIa
Pa1J1000s BSTAIBY]0 SS[UN ‘A0[3 SB 80UBIB[O],
[
A
=
09

Q4.7

do

11



AB 5T 88 = R0 IR
BEIJING DEEPCOOL INDUSTRIES CO., LTD

3.7 NUT

A7 00 SIMISNANI 10004330 ONIr3g]LYd 2HVN ¥ NOUVOLIGon
[6) Wi 7.02.02 oSN
CHMCTNIN V4 @030
k7 A
Es NOVRELYN NOIS30
80F | SOF | OF Z0F | 10F | VOF | 3ONvATIOL

000i~00%<|00#~07 < |0 I~0£< 08~K

9ve< | €~GD NOISN3NIQ

payioads asiMIBY)0 SSB|UN ‘MO[Sq SD 3IUDIBIO]

M2.5

g

9

AT

8¢ S
33

doO

12



Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

AAEON:
EP-CHUPSMTVBPLX



https://www.mouser.com/aaeon-up
https://www.mouser.com/access/?pn=EP-CHUPSMTVBPLX

	UP2 CASE JIS A4 标题栏（纵向）
	1.pdf
	上面板 UP2喷漆蓝色 JIS A4 标题栏（纵向）

	1.pdf
	上盖板 UP2喷砂阳极黑色攻牙 JIS A4 标题栏（纵向）

	1.pdf
	中壳 UP2喷砂阳极黑色攻牙 JIS A4 标题栏（纵向）

	1.pdf
	下盖板组 UP2 JIS A4 标题栏（纵向）

	1.pdf
	支架 UP2喷砂阳极黑色 JIS A4 标题栏（纵向）

	1.pdf
	螺丝 M2 Layout1

	1.pdf
	螺丝 M2 Layout1

	1.pdf
	螺丝 M2 Layout1

	1.pdf
	螺丝 M2 Layout1


